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'\il1q' fcil�l"1 ( �;;Jilf.flcfi ) 
BIOLOGY (Theory) 

- , 3 mi
Time : 3 hours I

(�: 70 
I Mat. Marks : 70 

f.r<f� : (i) 11'1 M•'iG-ol ii <!J"f 30 lfO'i g I <l>lT lfO'i aif.l,u,j g I 

{n) lfO'i ml J 'fl 8 <f'l'i lWl1'P lr.R J 3i'I! <ITT t I lW! � 9 'ff I 8 'ffi!1 lWl1'P lfO'i 2 
m <ITT t. ™ � 19 'ff 21 <l'l'i lWl1'P ™ 3 m <ITT t = ™ <i= 2s "it 30 
<f'l'i lWl1'P l!r-f 5 ai<!it lITT t1 

(ru1 ™ <i= 1 'ff 4 oq, •sfllifi<"i1<1 Ill'{ t 1 .-,iii lWl1'P ™ ,i; '3'ffl: "i "lR fi1<1>..,q � 
rri.! t I mft fi'lifi<'<l aJ'l'Ti" i:ffl< 3fu-11i;i Ti faR,,� I 

(iv) , .. .,q-:1 ii 'fllTTl tf{ ;;mt f<lq,..,q .fflf t ffll1fq 2 m "ll1'! GJ � ii. 3 m "ll1'! <lA
� -/j <liR 5 ffi "ll1'! <l>lT � if aJl'<lfw fllq,..,q !!GR f<li'-lT 1l<l1 � I � � Ti
<il<IB 1/'1> fllifioG 11>1 � '3ffi � I

(v) ai1,n'lifi<iljfll< "1"'D 'll�ill!,t1 fil':i ,r'lllfl) I
Note : (l) There are in all 30 questions in this question paper.All questions are compulsocy. 

(ii) Question No. I to 8 cany one mark each. Question No. 9 to 18 carry two marks each, question no.
19to 27 carry three marks ea<h and question no. 28 to 30 carry five marks each.

(iii) Question No. l to 4 are multiple choice questions. Here four options are given in each question. 
Write the correct option in your answer book. 

(iv) There isno overall choice in question paper, however, an inlernal choice ha., been provided in two
questions of2 marks. three questions of3 marks and all questions of S marks each, You have to
attempt only one of the given choices in such questions.

(v) Drawneatandlabelleddiagramswherevernecessary.

I. A"lT f.\�il'I <t> fllq,fml tiFl "ll1'! 'lR'f ¢6<'11� �­
Fruits develop without fertilisation are called :
(l) � 'll1.'f (ti) �Jffl�ifi 'l>ol (tit) � � -

False fruit True fruit Parthenocarpic fiuit 
2. <1'<11�"1<$&-:, Ri")l'i� ;f; x1'fi >'i i'!ll>llffiq qj) � 1ITT\T t­

Thenumberofchromosomes in the individual sufferingfi:omKlinefulter's syndrome is: 
(i) 48 C•) 41 (ru) 46 (iv) 4 s
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' ·'.
In desert plants, leaves are reduced to 
(i) q;re if (ii) cA if

spmes stem
4. � q,f f.'rl\uJ mm %­

Antibiotics arc produced by:

(iii) 1J5cl if
fiuit

(iv) � if
flower

(i) TTtclfi'R sRT (iii "Hll'f'l l,ffi 
Vitamin Chemical 

' \ ' (rii) \.llC:IGi13TT KRT 
Protozoa 

(iv) 'l-e"l v\lm sRT
Microbes

5. TTt>m ·C;ifi <It'! <i�ct x'Pl 1ITT "ffll i8 itN I
Name a sextmlly transmitted disease.

6. filxico, wTfl '<" 3ll\'1lf.t;1 � <ITT ,iir-1 '1T f.n:r� % 7 "ffll � I
\Vhich Mendel's law is based ()I) dihybrid cross'? Write its name.

7. ,wi,q1:;�ni 'l"lT % ,
What is Biopiracy ·:

s. = mef"T "' or i3t'l"l � 1 

Write two aims of plant conservation.

1 

1 

9. '[qi T'f\ qJi;C! qS\ 1;c1, il>lfllil> fflfi/>T ii '.\'l<f11 qS\ 'fK<TT 24 % 1 f.'19f8fuio if '.l'l"t'>l ct\ 'iiicc<JT
f<'ha,n 5'rft- 2
There are 24 d�romosomes in vegetative cell of a flowering plant. How many chromosomes will be in the
fol\ov.'lng
(ii '<"l<Tif>UT (iii 31"'5 si!flii!il (iii) ir'JtTT1l (iv) <jITf'l'3l

P,�llengrain Fggcdl Fndospem1 Zygote

10. ��Wi�· �r fi'-1\ll---l cflf! t ? � ·GT w--rm �� !
What ic; Medical Tcnninatio:1 nf P1cgnancy (�·1.T.P.)? \\i:-ite its two impacts.

3l"l<IT (OR) 

S:if'Hi<l<ll f2l ,r:i;i c 4'TT ,l 7 ul<!'fm'TT <tfc& q,r c!TT f�cl <R'! 'lS sT B'1TT'l � I 
What is population explosion? State two steps to overcome population growth rate. 

11. 3lji!1,RI flf<'h,01 'f'ff ,l 7 <'lslc<'I �, -<ie>i11$� I
What is adaptive radiation? Explain with example.

12. eol R � I <1 -<11 �, .-,, "!'f'T'l � 'fTol vi'tm clTT "ffll f8 f{!I •� I
Write names of Malaria and Cough causing organism.

13. IITT'Ha!I il>< o I 'il<1T ,l 7 � IITT'H� 'l>T '[qi \lGT,:Rll'f <fl� I
What is Immunisation? Give an example of passive immunisation.
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14. 'fj"l i\ 1f'l_ .3JTii_ 'l)_ %l>lJUT � l"1ill � 7 � q\)ft,� I
How 11. I. V. infects in human'? Clarify.

15. mci!i <T'lU'l er; <it ;:is'WJ fi'r�I
Write two uses of tissue culture.

31'1,fiTT (OR)

.ft'! 'mFf ,'\ 'flTT 3lT'iT'l 1'; ? s'llt ;sfrcA i\ � 'flTT lffi0'I g 7 
\Vhat isApiculture? I bv,· it is imrortant in our life'? 

16. lcllRcili 3l'lf'htc cfi ;:,;11'1ITT 1TTi'1\ \;<li � 3!U!'A fc;ifu,� I
Write a case smdy nf remedy for plastic waste.

1 7. B<TT"'"1 <$\ fl e 11rn I {\ i'llm 3TTRW cf i'fc'?: �,m,q, fi'H I fii.g <!iT � I 
Explain an upright and an inverted ecological pyramids with the help of cxnmplc. 

, -,n wl>ciT g 7 
In your view \\fo1t motivates youngsters to take akohol or drugs and how can this be avoided? 

19. ('1>) 3ITTJc! 'cJqi 'flTT t 7 ��I
What is mcm,trual cycle? Clarify. 

('"1) �wc:J q;t fi,'1<TT 'liT � 'i'l 0w!ifo,u ITT iT-ffillZ I 
Draw a neat and labelled diagram of spem1. 

20. "" q1TTfocrr cl :w:rf � qi[ DST"'"' +rf%,1 fl'lsll:l� I
Lxplaln Co�duminance ..1r,d In..:,Jmrlctc dominance '"nb examples.

3f"<iTT (ORJ

'lFlcf i\ fi'i.T f.'r:/Rur ctil "FiF,111 oiT �"1Tt,,-, am fl'f,;m,� 1 

Explain the process of sex dctcrrnination in human being diagrammatically. 

21. -'lf'lcf v,� �1 'I 11W!rswl! iii fil"l c!iRI fcef{<f, I
Write three goals of human genome project.

22. fi'rer, iii i:raPT 'liT cfiqc[ 31l�"il"1a f.'1"'0°1 cC1R',,Q 1
Drnw only diagrammatic representation of Miller ·s experiment.

23. <J_� q;\ -dicf ;,-,f'[ep c/; "'11 -/j 'fill i31flllfi'mT -� 7 <'lsl>F"I �(! fl'l$1l:f� I
\Vhat are the u-;es of microbes as biofertilisers? Explain with examples.

24. f.t9 i\ � cl; fil"l-fil"l 3RTT fc:i fui �
Write three differences between each of the following;
('1>) D N. A cf RN. A (<s) Qi'ffll"'J:f#l�Gf cf �ial"lf)ii!Q01 

D. N. A. and R. N. A. Exonuclea..eand Endonuclea5e. 
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25. '3frc! fllfil,c111 <NTT � 7 ,�J1../if11'1 f-%Qe1i\Ci (�.;,l\.i:;) o\'\ ·cJS11! 'liT ={UT <ti\ j,;� � I 3
\\!hat is Gene Therapy? Illustrate using the example of Adcnosine Deaminase deficiency.

Pl"lfi:IR.a q,r � feui,ft fi:IR.Q -
Write short note on the following 
(<!>) "1j�ills 'ITTl1'A 

Downstream Processing 

31"-'fifT (OR) 

Origin of TL"'-plication 

26. � <i, ITT i\ ;j'fq-\ildlfr1ct� <i\ oilt ·""' ,3qtil•rl <1>1 ,r� � 1
Write any three importance ofbiotechnology in the area of agriculture.

27. q<1fc1,,ft<1 �',:!OJ <1>1 � <i, fMi:: = 'I'm = m ·,

What measures would you take to reduce environmental pollul�on 7

31"-'fifT (OR) 

ifA ,rr;:rn ll'1Ti'f <$ ¢1<" 17 1ITT io<'ffis � I 
Mention the cm15es of Green House effect. 

' 

3 

28. � ff"IT �� <!> <lT'f 3RR x'll'c 'li'\A,c; I ""'! "1c'll3TT <$ 'iffi'1 fm<'f lfifiR 'liT
cJ>'lwlsr � fl"1"'1 mIB � 7 ,r,'l zj.j\ '!'c'll3TT * 3Rl i\ o-R qfil\ ,i,,J'113i\ ii\ '1T'I •� I 5
Differentiate benveen microsporogenesis and mega,;porogenesis. Which type of cell division occurs during
these events ?Name the structures fonned at the end of these t\\'O events.

31"-'fifT (OR) 

\f<!>"Cil"R i:;ci 3i:SC1'1'1 cm "11�&1'1 TTA1 o\'\ flol<f(fl 'ii fi�$11:,Q I 
Fxplain �permatogenesis andoogenesis with the help of diagrammatic sketches. 

29. "1'f mm <i, 'f,Tt Wil wnuif 'liT fi'rcRUT <ftf'"1; I
Describe any five evidences of evolution.

3!"-lq] (OR)

(<!>) ,s I f1l tj cl Is <ITT aj ¢ c"l tj 13TT cm fllf$il"" I 
I�laborate the concepts ofDarwinianism. 

(i'l!) "11jcl.�l<li � q\'\ ll:j<s fcl�1�a1Q fi:!RsiQ I 
Write the salient features of genetic code. 

30. ffielTil <!> lTfM'-!fc'r<li w.'! <!> � 1:[cqS] cf>T � ffl ililfti� I
Describe the various components of a Pond ecosystem diagrammatically. 

Pl "I fi1 f,t;i a J,] ell I &:11 ¢1 fGi Q I 
Explain the following: 
(<!>) �f-%'1lfifi),<J ;iiq�ll'c 

Radioactive Wastes 
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(i'l!) ;j'\q � 
Bio diversity 
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